(ECE3455, Q5) In the circuit shown, capacitors
are open for DC and short for AC .
The BJT has VcE(sat)=0.2[V] and beta=100.
Vee=12[V], Re=1.2Ka. Rc=3.3KAR1L.=4.7KL
a) Find the optimum value of IC so that the
output swing(the amplitude of AC part
of the output) is a maximum.
b) Find RB1 and RB2 regarding part (a).
c) Find the maximum amplitude of the output (vo).
regarding part (a).

SO ‘u.,\‘k;vs N

De LomJ Zu:u, )/CE = ‘/Cc. - I( (?c +/:f')

V,—.' I()((RC,"KL) I N
T N
V’L$ I\/CE*-*o'Q: 'l/fc-[(_‘(kc-rfs)—d‘z s <" 12

W =Ve
Ic X [k(‘,///?b) =

RNA, = 3.3 N4.7 = 194 k2
- I(_ (?).3 + LZ) - 0.2

%t—lk(kc+f%)~az

{Zc,-; .83 Mﬂ

| = . = 2. v
b) \/Bzo,—,_rkgxl.gj...aul.lezg g [v]

Rglub &2
7. Yec=t® _o.] X .83 =0.1%83
Rijt‘r&f’/

(J/\\Vl.(ll:’j . ij"*/ V4 ‘efwfv

Rge= 0. 183




ECE3455, Room for extra work
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